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*Given the following initial value, determine the resulting value for the given operation.
(0011 0000 00000000 0000 000G 1111 0001
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eGiven the following initial values, determine the resulting value for the given operation.
: 0011 0000 0000 0000 0000 0000 1111 0001
y,~0000 0000 0000 0000 000000001111 1111 t 2,
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4) To isolate bits 7..4 in the rightmost 4 bits of a 32-bit word, one can first shift left 24
bits, then right bits.
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Assume $s1 has 50 and $s2 has 30. Given this code:

bne $s3, $s4, Else
add $s0, $s1, $s2
j Exit

Else: sub $s0, $s1, $s2

Exit:
4) What is "bne" short for?

If $53 is 9 and $s4 is 2, which instruction execu

after bne?gl

4) j Exit is executed when $s3 and $s4 values (N

\09‘& £53 454 Else

sy 5045 %SD
— &X Exit
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4) If the first instruction were beq rather than bne, what
instruction should then appear immediately after beq?



t\
Given the C statement "if (i==]) f=g W 34 [

needed (assuming variables are mapped to registers properly)?

bre &L, §ta, exik
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4) A first part of a main program calls procedure Power to compute x¥, where x is in $s0, y is in $s1.
Later, the program is to call Power again, but this time x is in $s3 and y is in $s7. How might the
program pass the parameter values to Power?

Copy $s3 to $a0, and $s7 to $al.
Not possible; x and y must be in $s0 and $s1.
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Assume $s0 has the binary numbef 1211 0000 0000 0000 0000 0000 0000 1111
has the binary number 0000 0000 0000 0000 0000 0000 TV00U TT11

, and $sl
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4) What is the value of $t0 after the following instruction?

slt $sO, $sl1 SP < 5|
lteno i -[—
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hat is the value of $t0 after the following instruction?

sltu $t0, $s0, $s1 <5 &5 I




4) A main program will call a procedure Power for computing x¥. Currently, x is in
$s0, y is in $s1. How might the program pass the parameter values to Power?

d $a0, $s0, $zero
add  $al, $s1, $zero
add $s0, $a0, $zero

add  $sl, $al, $zero
add $vO0, $s0, $zero
add  $vl, $sl, $zero




14) Given the C loop: while (x =) { ... }. != means not equal, and assume $s0 is x and $s1
is y. Complete the compiled loop:

Lnupb_o_g_ $s0 $s1 Exit

# Loop b@ Lsop % > »@ /,c)‘] 26 A (

Exit;
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15) Given: for (i=0;i<9; ++i) { ... } where iis $s0. Which comparison instruction is

most appropriate?
It $10, $s0, 9

, siti $t0, SsO, 9

/ slti $10, $0, 0

17) Given: for (i = 1; 1 <j; ++i) { loop body } where i is $s0, j is $s1. Complete the indicated
instruction: _
0=
Loop: slt $t3, $s0, $sl ] '
$t3, $zero, Exit %b f_ 2= / L ]
# Loop body
jb Loop $5 O < ft S (
Exit: VG
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